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Objectives

Students will be able to:

Solve equations which are convertible to
quadratic equations



Q. Solve the following equations

(12). 4221 _92% +1=0 8y=1  y=1
Solution: 4.2%*' —9.2* +1=0 _,,zé s
422" -9.2*+1=0 Put the value of yinabove equation
8.(2)°.—9.2* +1=0 2*=y 2% =1
let2"=y @)=y P=s 2220
8y' —9y+1=0 81
8y  —8y—y+1=0 2 ~ 5 2 =2
8y(y—D-1(y-D=0 2*=22 x=0
(8y—1)(y-1)=0 x=-3




(14).

2°+64.27"-20=0

Solution :
2"+64.27-20=0
2+ _20=0 ...)
2.\
Let 2" = Wi exemss (2)
Put 2" =y in eq.(1)
y+ o 20=0
) 4

Multiply both sides by" y"

y +64—20y=0
)’2 _20)'-{-64:0

yz —-16y—4y+64=0
y(y—-16)—-4(y-16)=0

(y-16)(y-4)=0

y—16=0 y=4=0
y=16 y=4
Put y=2" from eq.(2)
=16 2" =4
2% =2 2=
x=4 x=2
S.Set ={2,4}



(16). (x—1)(x=2)(x—8)(x+5)+360=0

Solution :
(x=1)(x=2)(x—8)(x+5)+360=0

[(x=1)(x=2) ][ (x—8)(x+5)]+360=0

[xz —2x—1x+2][x2 +5x—8x-40]+360=0

(x* =3x+2)(x*=3x-40)+360=0 .....(1})
Let x**-3x=y ... (2)
Put in equation (1)
(v+2)(y—40)+360=0

¥y —40y+2y—80+360=0
y>—38y+280=0
y*—=28y-10y+280=0
y(y-28)-10(y-28)=0
(y-28)(y-10)=0

y=28=0 y-10=0

y=28 y=10

Put y=x"—=3x from eq.(2)
x*=3x=28

x —3x-28=0
x*=Tx+4x-28=0
x(x=7)+4(x=7)=0
(x=7)(x+4)=0
x-=7=0 x+4=0
x=7 x=-4
x =3x=10

x =3x-10=0

x =5x+2x-10=0
x(x=5)+2(x-5)=0
(x=5)(x+2)=0
x=5=0 x+2=0
x=5 x==2
S.Set ={5,-2,7,-4}



Activity
R

Q. Solve the following equation

324+2 = 12.3% — 3



Solution
S GGG

Solution:3""* =12.3" -3 y—=1=0 9y-3=0
3*3°-12.3)+3=0 y=1 9y =3
9(3")° -12.(3")+3=0 .....(1) _3
Let 3" =y ?
Put 3" =y in eq.(1) Pur ey

9y’ —-12y+3=0 3" =1 3"=%
9y* —9y—3y+3=0 3% = 30 3% = 3]
Iy(y=1)=-3(y-1)=0 x=0 s,
(y=1)(9y=3)=0 S.Set ={0,~1}




Homework
T

Ex 1.3 Remaining parts



